1 D000 (2010/04/12): 000 OO

00 MOOOOO0,000000000000000.0000,00 MOOO0O0O0OO000O
M=G/KDO0OO0O0O0O0O0O0OD0DO00000,0000000000.000 G/KO,0 G000
0 KO0O0OOOOOOOO.0O00000,00000 MOOOO (0000)000,00
00000 (G,K)0000 (0000)00000000.

1.1 DOO0oOOooooog

goobogoobbooooo,ogobobooo,0obboobbooobboo.boog, b
ooooobooboboobobo.boob, bbb oobobooboboobooo.

oo 1.1. M,(R)0D nxnO0000D000DO0O0ODOO. 0000,

(1) GL,(R) :={g € M, (R) | det(g9) #0} 0 DODODODO,
(2) SL,(R) :={g € M,,(R) |det(g) =1} 0 0 O0DDOO,
(3) O(n) := {g € Mu(R) | 'gg = E,} 0 000,

(4) SO(n) :=SL,(R)NO(r) 0 0O0DDD 0OO.

oooooboooobo,o0obooobooo.

00 1.2.

(1) S":={veR"! | =1}0n0000,

(2) RP":={{CcR*! | /00000000 }0 0000000,

(3) Gx(R"):={VCR*|VDO kDODOODOODO }0 000000000,
(4) RH?:={z€C|Im(z) >0} 0 0000 0OOO.

0000 RP"=G;(R**)000. 0000000000000000000O00DO0O00.

12 OO0
ooo0o,0 OO0 MOOOOOOOO,0000000000O0ODDDOODOOOOO0O0.

00 1.3.00®:GxM—M:(g9,p)— ®(g,p) =29gp0,G0 M OO 00 (action) 00,
ooboooog:

(i) Vg,h € G, ¥p € M, (gh).p = g.(h-p),

(i) Ype M,ep=p (000 e GOODOD).

O0000000o0o0oooo00 OO0 0D0D000oO0O0oo0O0.0 Gooo MOooooooo
0,00 GAMOOOOODDOO.




0 1.4. 0000000:
(1) GL,(R) xR" - R" 0O gw:=gv 000000,
(2) GL,(R) x Gx(R™") — G, (R*) 0 ¢.V:={gv|veV}D000DO,
(3) SLy(R) x RH? - RH?2 000000000000 00O0O:

a b _az+b
e d 'Z_icz:%—d'

00 1.5. 0 1.4 (3) 0 SLy(R) O GL,(R) 0000000000000 000.00000D0.

gooboobooooobobooooobobooooobobbooo. obbobo,boooon
goooobogooboobobo. ogobo,gboboobboooo.

00 1.6. 0 GOOO MOOOOODODOOOOO.OoOOOd,

(1) 000000 ¢cGO MOOOOOo,
(2) 0000 M c MO GOOOODOODO0OD0O0OD0O000 (0000,VgeG, Vpe M,
gpeM’). 0000,GO0 M 00000,

014000 160000000000 0O0,0000000000.

O 1.7.
(1) SO(n), O(n), SL,(R) 0 R* 00O OO,
SO(n),O(n) DODO S™'O0OO0ODOO,
SO(n), O(n) DODDODOO0DDOO Ge(R*) OODDOO.
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13 DOoDoooo
goooobogoobo. g, gbbogboooboooob,boooobog.

00 1.8.0 GOOO MOOOOOD OO0 00,00000000: Vp,gq€e M, 3g€ G :
gp=¢. 00,00 MO OO OO,MO000000000000000O.

ooobooboobobooboboobo,o0obbooboboooo.

00 1.9. MOOOOO,0oe MOOOOO. O0OOO,0 GO MOOODOOOODOOOOO
O0,0000:VpeM,3geG: gp=o.

00 1.10. 00 19000,
0 1.11. 00000000000:
(1) O(n+1),80(n+1)0 S" 0000,

(2) O(n), SO(n) O Gx(R®)ODODOO,
(3) SLy(R) 0 RH2 OOOO.



14 0000 G/K
0 GOOUOO KOOOO,0000 G/KOoooo.

00 1.12. 0 GOOOOD KODOOO,GOODODODOOO ~0000000: g~h:e g theK.
0000,G0 ~0000000 G/KOOO,GO KOOO OOO0O (coset space) 000

00 ~00000000000000000000. 0000000000000 [JO000
0,000000: G/K ={[g]|geG}.

00 1.13. 00000000000000: [¢g] = gK = {gk | ke K}.

00 KOOooOoooooooo,G/KOOoOOoO (0Ob0o0o0o0ooooon). 0000 Koo
000000000000, G/KOOoUooOoooooooooooooo.

15 000

00 MOOOOOOOOO M=G/KOODOOOOOOOOOOOO,00000000. 0
ooooobooooboo,ob0oooboo.

oo 1.14.

(1) G/K00DO0O00OO0O0O0.0000,0 GO0 G/KO000000000.
() 00 MO0O0O0O0O0OO0OOOO. MOOOOOOOOOOO GO0,00 peMOO0O0O
Gy, ={geG|gp=p}0000,0000 G/G,0 MOOOODOOODOOO.

0000000000 Gp:={geG|lgp=p}0,G0 p0000 00000 DODO. 0O
000 MO G/KOODODOOOODOOD,00000 G,000000000000.

0 1.15. 00 S*, 000000000 Gx(R"),0000 RH20,0000000000000
googd:

(1) " =0(n+1)/0(n), 000000

o ={|-gto-| 1acom}.

(2) Gx(R") = GL,(R)/Qr, 000000

O = { {%‘%} € GL,(R) | A € GLy(R), D € GLnk(]R)} ,

(3) RH? = SLy(R)/SO(2).

0000 MOOOOOODOODOOD,00O0O0O0OOOOOOObDOUODOOObDbOODOO.
00000, MO000000O0O000OO00DOOOOOO00DOOO0.



0 1.16. 000000000 Gx(R") O, Gx(R*) = O(n)/O(k) x O(n — k) 00000000
0DO000000. 000000,

O(k) x O(n — k) := { [%%} € GL.(R) | A€ O(k), D € O(n — k:)} c On).

16 DOOOODOO
goo,0gbobooboooboooboobboobobo,obboooboo.

0 1.17. Vi(R™) := {(v1,...,vx) | {v1,...,0,} 0 R* 000000 } O Stiefel 000 OO
0. V(R")O0O,0()00000000000000, Vi(R?)=0(n)/O(n—k)000000.

0000 k=100000 V(R =S"100000.

0 1.18. Fk1,~~7kr(Rn) = {(Vkl,...,VkT) | Vi, C---CV,, : 000000, dimVy, = k;z} O
0000 000. Fy,.. (R 00,0 00000000000000,000000000
O: Fkl,...,kr(Rn) = O(n)/O(kl) X O(k‘g — kl) X oo X O(k‘r — kr—l) X O(?’L — ]Cr)

0000 r=100000 F, (R") =G, (R?) 00000,

00 1.19. 0000 Fyu(R% 00 OG) 00000000000, 00,0000000000
0000000D00000: Fbyu(R®) =0(5)/0(2) x0(2) x O(1). 000000, 000000
0DO000D0000000000.



2 0000 (2010/04/19): 000000000

00000000000000000000,0000000000000000000. 00
000000,000000000000000000000000000.0000,00000
00000000000000000. 00,00000 G/KO000000000000000O0
000,00 (G,K)ooooooo.

21 0O0O0OO

o0ooooooooooo,00000U0U00. 0Do0DoOoo0oO0OUOoO,D0ooDoooOg “O»
OO00oooooOoO0”o0ooooooooog.

00 2.1. 0000000000 MO O0O0OO ODODO0OO,00 peMOODOOO,00000
00 s,:M—-MOO0O0DDOOO (DOO0OO s, 0 p0000 000 O0O0O):

(i) s, 00000 (DO0O0O,00000000000),
(ii) (sp)* =1id,
(iii) p0 s, DOO0O0OOO (OODODO, Fix(sp, M) :={z e M |sy(z) =2} 00 {p}0000O).

0 2.2. 0000000O0O0O:
(1) booo0oO0oo0 R, 000 sp(z) :==2p — =,

(2) 00 SYL,0oOO sy(x) :=2(z,p)p — =,
(3) 00 S", 000 s, 0 (2)0D0000O00DOOODODO.

00 23. MOOOOOODOOO,0000DO0:

(1) 00000 Isom(M):={f: M —>M:0000}0 MOOODOOOOODO,
(2) Yo,y € M, 5,05y = S5, (y) © S~

22 0O0O0OO

gooo,ggoobgoo,bbooobbogob. oo, 0booobbooobboon
oooo0ob.b0boo0oboooboobbooboobo,booboDbooboboobooo.

00 24. X00O0,*: XxX—-X00O0O0OO0O. 0000 (X, 0O 0O0O0O0O (D0OOO, =
0 X00O0O00000)00o,00000000:

(i) Ve € X, zxx =,

(ii) Ve,y e X,z € X : zxy =,

(ii) Vz,y,z € X, (x*xy) *x 2z = (x * 2) x (y * 2).



0 25.00 X000O0,00 x0 zxy:=2000000,(X,x) 00000000 (0DOO
0o00o0oo ooo).

00 26. XOOO,00 xeXDOUOOOOO s,: X—-X0O0OODOOOODOOO. oOooO,
rzxy:=s,(r) 0000000000000 OOOOODODO,000000OO:

(i) Vx € X, sz(z) ==,

(i) Ve € X, s, OO0,

(iil)” Vz,y € X, 85 08y = S5, (y) © Sa-

0000 (i)—(ii)) 0000000 s: X —Map(X,X)O0,0000 000000 000. O
00000, Map(X,X):={f: X —-X:00}.00,00000 (X,s)00000000.
0 2.7.000000000:

(1) 0000000000O0,0000000000000000,
(2) Ry = {(cos(2kn/n),sin(2kn/n)) | k€ Z} O, S 00000000000000000O0
0000 (000 0000000 ooo).

23 OD0OOOOOO

gobooboobooooo,ogbboboooobobobbooooobobobo. ooobbboooon
gbooob,boobooboboobbooboobboon.

00 2.8. 0000 X,YOoooo,

() 00 f:X—Y O OO0 0O0,00000000:Vz€X, fos, =85 o0 f,
(2) 00 f:X—-Y0O OO OO,0000000000000,

(3) Aut(X):={f: X - X:00}0 X0 00000 00O,

(4) X0 000000 00,Aw(X)0 XO0O0O0O0O0O0DO0oooo.

00 2.9. GOO,K0O0000O,s, e K000.0000 (G,K,s,)0 00000 00,0
0000000: s, € Z(K).

000 Z(K):={keK|Vhe K,kh=hk}0OO.000 KO OO 0OO.

o0 210. 0O0000o0oOooOOobOOobOOobOobOob.obooo,

(1) (X,s) 000000000000, Ve e X, (Aut(X), Aut(X),,s,) 000000000,
(2) (G,K,s,) 0000000000, 31s: G/KOO0O000D000 st. G C Aut(X) OO

S[e] = So-

00 2.11. 00 210(2)0000,0000000000 s[g]::gsog_IDDDDDDDDDD
OD00. 00 s O well-defined 000 0O0000.
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0 212 GOO,KO000000000.0000,
(1) (G,K,e) 000000000 (000 00000000 000). 00000000000
ooooooo.
(2) (G,K,s,) 0000000000000, (G,K,s;))000000000 (0000000
00 (G,K,s,) 0 0000000 000).

gobod. ggooboooobuooobooooboo,obboooboo0o.oob,boon
ooo0oo0oooOooooooooooo, (GyK,s,) 000000000 o0o0oooooooo
oo00,000000000000 (DO0,000000000D00D00,00000 GOODO
Ooooooooo).

24 0O0OOOOOO

gooo,0jgoobgoooboo. bo,0go0bobooobbooobbooobooboo,oon
gbooboooboogooo.

0 213. 00 S"00000000ODO,0000000:

1
—1
(O(n +1),0(n), ).

-1

00 2.14. 00 S'0000,0 21300 22(2)00000000000000. 0000, 0
good

oe.om. (1))

0000 210 (2)00000000000O0O0O0OO,0 22(2)0000000000O00O0O0O0O
gboboooboog.

0 2.15. 0000000 Rn(lj 2.7DD)DDDDDDDDDD (G,K,SO)D,DDDDDDD:
1
G := No)(Rn) = {9 € O(2) | g(R,) = Rn}, 5o ::< 1 >, K :=G., ={e, s}
0 2.16. OO00OOOOOO Gk(Rn)DDDDDDDDDDD,DDDDDDD:

(O(n), O(k) x O(n—k),( B L >).



